

DD-26, Sector- I, Salt Lake City, Kolkata -700 064. Phone: (033) 4066-3220, FAX: 4066-3225

website: www.wbnsou.ac.in

Memo No - AC/476/18-19

Date- 26.02.2019

To,

Suryashakti Infotech Pvt. Ltd., P-245, Block-B, Lake Town, 2Kolkata-700089

<u>Sub: Work Order for Annual Maintenance of university official website www.wbnsou.ac.in for the period from 01.01.2019 to 31.12.2019.</u>

Sír,

In continuation of Work Order vide Memo No.- Ac/285/17-18 dated 12.02.2018 and your subsequent letter vide SIPL/P/Dec/WebAMC/NSOU/097 dated 21.12.2018 regarding annual maintenance of the university official website ,you are hereby informed that , you are entrusted for maintenance and updation of the university official website for one year with the revised rate as follows.

The new rate is effective from 01.01.2019 for next one year.

Serial No.	Job Details	Rate per month (Rs.) (excluding taxes & other charges)	Total Cost (Rs.)
1	Annual Maintenance and updation of the university official website www.wbnsou.ac.in from 01.01.2019 to 31.12.2019.	26,000.00	3,12,000.00
Total (in words) : T	wo lakhs ninety four thousand	rupees only.	

# NEIVY & STATE OF THE STATE OF T

# **NETAJI SUBHAS OPEN UNIVERSITY**

DD-26, Sector- I, Salt Lake City, Kolkata -700 064. Phone: (033) 4066-3220, FAX: 4066-3225 website: www.wbnsou.ac.in

# **Terms & Conditions:**

Payment will only be made after successful completion of the job and certification by the competent authority.

Finance Officer

# Copy to

1. Registrar

2. E.S. to Vice Chancellor for information.

8. ITO 4. Accountant/ Guard File



[Established by WB Act (XIX) of 1997, Recognized by UGC] DD-26, Sector-I, Salt Lake, Kolkata-700064 Phone: 033 4066 3220, TELEFAX-033-4066 3225

www.wbnsou.ac.in

Memo No: Reg 1190

Date: 19-11-2018

To Mr. M. Munshi, DGM (EB-II), Enterprise Business Cell, Calcutta Telephones, 2<sup>nd</sup> Floor, Telephone Bhawan, 34-B.B.D. Bag. Kolkata -700001.

Ref: your communication no. EB-II/Netaji Subhas Open University/2018-19 Dated: 26-06-2018.

Sub: proposal for installation of Campus LAN at Netaji Subhas Open University, Kalyani Regional Centre & acceptance thereof.

Sir,

With reference to above on the Subject this is to inform that we have received your Commercial Proposal at a total cast of Rs.54,66,260/- (without GST) for installation of LAN at Kalyani Regional Campus, Netaji Subhas Open University, with detailed cost of active & passive materials with description of services with the warranty for all the active materials for 3 years from the date of installation and the proposal for AMC for the 4<sup>th</sup> year at a cost of Rs. 7,38,556/- and year for the 5<sup>th</sup> year at cost of Rs.9,84,741/- (plus GST).

Now I have been directed to convey our acceptance of your Commercial Proposal for installation of Campus LAN at a total cost of Rs.54,66,260/- (plus GST) with the following notes as discussed in the meeting held with AGM, Enterprise Business-II, BSNL, Calcutta Telephones (Annexure I & II).

- a) The work should be completed in 4-6 months from the issue of Acceptance of the said proposal.
- b) The Information Technology officer (ITO: 9830522689) and Regional Director (9804317140). Kalyani Regional Centre will be the contact person on behalf of the University.
- c) The Authorized Officer of the University will certify the project after completion before final payment.

3-8415-18

With warm regards

Registrar

Netaji Subhas Open University

Copy forwarded for information to:

- i. The Finance Officer.
- ii. The Regional Director, Kalyani, NSOU.
- iii. The Executive Secretary to vice Chancellor.

The Information Technology Officer (ITO), NSOU.

Annex- I: Cost of Active Materials

		Annex- I: Cost of Active Materials			
LI <sub>I</sub> Num	Part Number	Description	Qt	y Unit Rate INR	Total Price INR
1.0	0 AIR-AP1832I-D-K9	CISCO 802.11ac Wave 2; 3x3:2SS; Int Ant; D Reg Domain	15	7.7.550.47	
1.	1 AIR-AP-T-RAIL-R	Ceiling Grid Clip for Aironet APs - Recessed Mount (Default)		1 17,000.17	₹ 7.05,797.55
1.2	AIR-AP-BRACKET-1	802.11n AP Low Profile Mounting Bracket (Default)	15	₹ 0.00	₹ 0.00
1.3		Cisco 1830 Series CAPWAP Software Image	15	₹ 0.00	₹ 0,00
	Oly And all	!	15	₹ 0.00	₹ 0.00
2.0	<del></del>	Cisco 3504 Wireless Controller	1.		
2.1	111111111111	Cisco 3504 Wireless Controller Power Supply	1	₹ 2,79,450.00	₹ 2,79,450.00
2.2		Cisco 3504 Wireless Controller SW Rel. 8.5	<del></del>	₹ 0.00	₹ 0,00
2.3	12:0 010004-171	Cisco 3504 Wireless Controller 1 AP Adder License	1 1	₹ 0.00	₹0.00
2.4	- 10 110 00 1110	AC Power Cord, Type C5, India	15	₹ 10,184.40	₹ 1,52,766.00
2.5	L. m. i a i a a da de el matil d'i	CISCO 3504 Wireless Controller Rack Mount Tray	- 1	₹0.00	₹ 0.00
3.0	WS-C2960X-24TS-IN	CISCO Catalyst 2960-X 24 GigE, 4 x 1G SFP, LAN Base	1	₹ 12.140.55	₹ 12,140.55
3.1	PWR-CLP	Power Retainer Clip For 3560-C, 2960-C and 2960-L Switches	8	₹ 1,22,219.01	₹ 9,77,752.08
3.2	CAB-IND-10A		8	₹ 0.00	₹ 0.00
4.0	WS-C3850-125-S	10A Power cable for India	8	₹0.00	₹ 0,00
4,1		Cisco Catalysi 3850 12 Port GE SFP IP Base	1	₹ 5,68,587,60	
4.2	S3850UK9-163 CAB-TA-IN	UNIVERSAL	1	₹ 0.00	₹5,68,587.60
4.3	<del></del>	India AC Type A Power Cable	1	₹ 0.00	₹ 0.00
4.4	STACK-T1-50CM	CISCO 50CM Type 1 Stacking Cable	1	₹ 4,843.80	₹ 0.00
	CAB-SPWR-30CM	CISCO Catalyst Stack Power Cable 30 CM	+-	₹ 4,601.61	₹ 4,843,80
4.5	PWR-C1-BLANK	Config 1 Power Supply Blank	+ ;		₹ 4,601.61
4.6	C3850-NM-BLANK	Cisco Catalyst 3850 Network Module Blank	1	₹0.00	₹ 0.00
4.7	PWR-C1-350WAC	350W AC Config 1 Power Supply	1	₹ 0.00	₹ 0.00
5.0	GLC-LH-SMD=	CISCO 1000BASE-LX/LH SFP transceiver module, MMF/SMF,		₹ 0.00	₹ 0.00
6.0	CON-SNT-AIR2IDK9	The state of the s	6	₹ 55,647.81	₹ 3,33.886.86
7.0	CON-SNT-AIRCTRTK	SNTC-8X5XNBD 802.11ac Wave 2; 3x3:2SS; Int Ant; D Reg SNTC-8X5XNBD Cisco 3504 Wireless Controller	15	₹ 6,598.00	₹ 98,970.01
	CON-SNT-		1	₹ 1,47,046,59	₹ 1.47.046.59
7.1	AIRWCT354	SNTC-8X5XNBD Cisco 3504 Wireless Controller SW Rel. 8	77	<b>5.0.00</b>	
7.2	CON-ECMU-	SWSS UPGRADES Cisco 3504 Wireless Controller 1 AP Adde	<del>                                     </del>	₹ 0.00	₹ 0.00
8.0		SNTC-8X5XNBD Catalyst 2960-X 24 GigE, 4 x 1G SFP, LAN	15	₹ 4,545.42	₹ 68.181.33
9.0	CON-SNT-WSC3R51S	SNIC PYEVARD COME COME A X 1G SFP, LAN	8	₹ 31,564.59	₹ 2,52,516.68
9.0 10. FIRI		SNTC-8X5XNBD Cisco Catalyst 3850 12 Port GE SFP IP Ba	1	₹ 1,10,049,79	₹ 1,10,049.79
	<del></del>		┿┽	·	
10.1	01-SSC-4271	SONICWALL NSA 3600 SECURE UPGRADE PLUS (3 YR)	1	₹ 5,40,494.80	<b>7 5 15 15</b>
10.2	01-SSC-3851	SONICWALL NSA 3600 HIGH AVAILABILITY (HA) UNIT	+ 1		₹ 5,40.494.80
			╌╌	₹ 2,16,170.10 Total	₹ 2,16,170.10
			<del> </del>	I Utal	₹ 44,73,255.36

Line Number	Part Number	Description	T_	T	<del></del>
1.0	AIR-AP1832I-D-K9		Qt	y Unit Rate INR	Total Price In
	<del> </del>	CISCO 802.11ac Wave 2; 3x3:2SS; Int Ani; D Reg Domain	15	₹ 47,053,17	<del></del> _
1.1	AIR-AP-T-RAIL-R	Osining Grid Clip for Aironet APs - Recessed Mount (Default)			₹ 7.05,79
1.2	AIR-AP-BRACKET-1	802.11n AP Low Profile Mounting Bracket (Default)	15	₹ 0.00	₹
1.3	SW1830-CAPWAP-I	(9 Cisco 1830 Series CAPWAP Software Image	15	₹ 0.00	₹
2,6	AIR-CT3504-K9	I	15	₹ 0.00	
	PWR-115W-AC	Cisco 3504 Wireless Controller	<del>- -</del>	₹ 2,79,450.00	<del></del> _
	AIR-CT3504-SW-8.5	Cisco 3504 Wireless Controller Power Supply	1		₹ 2.79,45
	LIC-CT3504-1A	Clsco 3504 Wireless Controller SW Rel. 8.5	1	₹ 0.00	₹
	CAB-AC-C5-IND	Cisco 3504 Wireless Controller 1 AP Adder License	15	₹ 10,184.40	₹(
	AIR-CT3504-RMNT	AC Power Cord, Type C5, India	1		₹ 1,52,768
3.0	WS-C2960X-24TS-IN	CISCO 3504 Wireless Controller Rack Mount Tray	<u>-</u>	₹ 0.00	₹ (
3.0		CISCO Catalyst 2960-X 24 GigE, 4 x 1G SFP, LAN Base	<del></del> -	₹ 12,140.55	₹12,14(
3.1 F	PWR-CLP	Power Retainer Clip For 3560-C, 2960-C and 2960-L Switches	8	₹ 1,22,219,01	₹ 9,77,752
	CAB-IND-10A		8	₹ 0.00	
4.0 V	VS-C3850-12S-S	10A Power cable for India		<u> </u>	₹0
	3850UK9-163	Cisco Catalyst 3850 12 Port GE SFP IP Base	8	₹ 0.00	₹0
	AB-TA-IN	UNIVERSAL	1	₹ 5,68,587.60	₹ 5,68,587
	TACK-T1-50CM	India AC Type A Power Cable	1	₹ 0.00	₹0
		CISCO 50CM Type 1 Stacking Cable	1	₹ 0.00	₹0
	AB-SPWR-30CM	CISCO Catalyst Stack Power Cable 30 CM	1	₹ 4,843.80	₹ 4.843.
	WR-C1-BLANK	Config 1 Power Supply Blank	_ 1 1	₹ 4,601.61	₹ 4,601.
	3850-NM-BLANK	Cisco Catalyst 3850 Network Module Blank	1	₹ 0.00	₹ 0.
l C	WR-C1-350WAC	350W AC Config 1 Power Supply	1 1	₹ 0.00	₹0.
.		CISCO 1000BASE-LX/LH SFP transceiver module, MMF/SMF, 1310nm, DOM	1	₹ 0.00	₹0.
6.0 C	ON-SNT-AIR2IDK9	SNTC-8X5YMPD 900 44	6	₹ 55,647.81	₹ 3,33,886,
7.0	DN-SNT-AIRCTRTK	SNTC-8X5XNBD 802.11ac Wave 2; 3x3:2SS; Int Ant; D Reg SNTC-8X5XNBD Cisco 3504 Wireless Controller	15	₹ 6,598.00	<del></del>
100	DN-SNT-		1	₹ 1,47,046.59	₹ 98,970,0
7.1 Alf	RWCT354	SNTC-8X5XNBD Cisco 3504 Wireless Controller SW Ref. 8	-}-	1,47,040.59	₹ 1,47,046.5
, ]00			1 1	₹ 0.00	₹ 0.0
LIC	CTCTA	SWSS UPGRADES Cisco 3504 Wireless Controller 1 AP Adde	1=	= . = . = .	<del></del>
LO CC	M-SMT-WSC296NT	SNTC-8X5XNBD Catalyst 2960-X 24 GigE, 4 x 1G SFP, LAN	15	₹ 4,545.42	₹ 58.181.3
.0 00	N-SNT-WSC38518	SNTC BYEYNOD O	8	₹ 31,564.59	₹ 2,52,516.6
· <u>v</u>		SNTC-BX5XNBD Cisco Catalyst 3850 12 Port GE SFP IP Ba	╀┯┿	<del></del>	
FIREWAI	<u> </u>		1	₹ 1.10,049.79	₹ 1,10,049,7
	SSC-4271	SONICWALL NSA 3600 SECURE UPGRADE PLUS (3 YR)			
01-	SSC-3851	SONICWALL NSA 3600 HIGH AVAILABILITY (HA) UNIT	1	₹ 5,40,494.80	₹ 5,40,494_8
		THE TOUR THE THE TOUR THE	1	₹ 2,16,170.10	₹ 2,16,170.10
	· <u>-</u>	——————————————————————————————————————	T	ota) 🚁	44,73,255.36

# 10

# NETAJI SUBHAS OPEN UNIVERSITY

DD-26, Sector- I, Salt Lake City, Kolkata -700 064. Phone: (033) 4066-3220, FAX: 4066-3225 website: www.wbnsou.ac.in

Memo No - Ac / 286 / 17-18

Date- 12.02-2018

To, Suryashakti Infotech Pvt. Ltd., P-245, Block-B, Lake Town Kolkata-700089

Sub : Renting & Maintenance of the webserver for hosting of university website & other necessary web applications from 01.01.2018 to 31.12.2018.

Sir,

In continuation of Work Order vide Memo No.- AC/312/16-17 dated 15.02.2017 and your subsequent letter vide SIPL/P/Dec/WebDS/NSOU/063 dated 07.12.2017 regarding renting and maintenance of web server, you are hereby informed that , you are entrusted for maintenance and retaining of the webserver used for the following activities from 01.01.2018 to 31.12.2018 at the same rate of previous year.

1. Hosting of the university website:

- 2. Hosting the applications for online Admission and renewal for Bachelor degree, Post Graduate and second degree programmes (BLIS) ,.
- 3. Hosting of web applications related to B.Ed. (Special Education) Counselling process.
- 4. Hosting of other micro websites related to online journals.

The price details is as follows and is effective from 01.01.2018 for one year.

Serial No.	Job Details	Rate per month (Rs.)	Total Cost (Rs.)
1	Renewal and Maintenance of the Webserver for the period from 01.01.2018 to 31.12.2018.	38,750.00	4,65,000.00
Total (in words):	Four lakh sixty five thousand rupe	es only.	Rs. 4,65,000.00

DD-26, Sector-1, Salt Lake City, Kolkata -700 064. Phone: (033) 4066-3220, FAX: 4066-3225 website: www.wbnsou.ac.in

# Terms & Conditions:

Payment will only be made after successful completion of the job and certification by the competent authority.

Finance Officer

# Copy to

- 1. Registrar
- 2. E.S to Vice Chancellor for information.
- 3. Guard File.
- 4 MTO



ESTABLISHED BY W.B.ACT (XIX) OF 1997, Recognized by U.G.C.

DD-26, Sector- I, Salt Lake City, Kolkata -700 064. Phone: (033) 4066-3220, FAX: 4066-3225

www.wbnsou.ac.in

Memo No- Reg/1067

Date- 12.10,2018 -

To,

Survashakti Infotech Pvt. Ltd.,

P-245, Block-B, Lake Town,

Kolkata-700 089.

As university is decided to use same online system service used in the previous year (2017-18) for the academic year 2018-19 for online counselling process of B.Ed. (Special Education) course, you are hereby entrusted to perform the job of providing service and support for Online Counselling system for B.Ed. (Special Education) for the year 2018-19.

The rate, terms and conditions will remain same as previous year.

Name of the job to be performed	Cost Involved (Rs.)
Providing service and support for Online	20,000/- inclusive of government taxes and
Counselling system for B.Ed. (Special Education)	service charges.
for the year 2018-19 as per the schedule of the	
University.	

## Terms & Conditions:

- The agency must ensure smooth and error free functioning of the online i) counselling system in counselling days.
- The payment will only be made after successful completion of the job and ii) certification by the competent authority of the university.

## Copy to:

- Director (School of Education)
   Finance Officer
   E.S. to Vice Chancellor for information



# ESTABLISHED BY W.B.ACT (XIX) OF 1997, Recognized by U.G.C.

DD-26, Sector- I, Salt Lake City, Kolkata -700 064. Phone: (033) 4066-3220, FAX: 4066-3225

www.wbnsou.ac.in

Memo No- Rogl 749

Date- 12/06/2017

Τo,

Suryashakti Infotech Pvt. Ltd.,

P-245, Block-B, Lake Town,

Kolkata-700 089.

<u>Sub: Work Order for providing online system service for B.Ed.(Special Education) for the academic year 2017-18.</u>

Sir,

As university has decided to use same online system service used in the previous year (2016-17) for the academic year 2017-18 for online counselling process of B.Ed. (Special Education) course, you are hereby entrusted to perform the job of providing service and support for Online Counselling system for B.Ed. (Special Education) for the year 2017-18.

The rate, terms and conditions will remain same as previous year.

Name of the job to be performed	Cost Involved (Rs.)
Providing system service and support for Online Counselling system for B.Ed. (Special Education) for the year 2016-17 as per the schedule of the University.	20,000/- inclusive of government taxes and service charges.

Please send us a reply as a token of affirmation.

## **Terms & Conditions:**

- The agency must ensure smooth and error free functioning of the online counselling system in counselling days.
- ii) The payment will only be made after successful completion of the job and certification by the competent authority of the university.

Registrar 17

Oc-

# 0

# NETAJI SUBHAS OPEN UNIVERSITY

ESTABLISHED BY W.B.ACT (XIX) OF 1997, Recognized by U.G.C.

DD-26, Sector- I, Salt Lake City, Kolkata -700 064. Phone: (033) 4066-3220, FAX: 4066-3225

www.wbnsou.ac.in

# Copy to:

- 1. Director (School of Education)
- 2. Finance Officer
- 3. E.S. to Vice Chancellor for information

W 12.6,17— Registrar

AC



DD-26, Sector- I, Salt Lake City, Kolkata -700 064. Phone: (033) 4066-3220, FAX: 4066-3225

website: www.wbnsou.ac.in

Memo No - AC/312/16-17

Date- 15.02.2017

Τo,

Suryashakti Infotech Pvt. Ltd., P-245, Block-B, Lake Town

Kolkata-700089

Sir.

In continuation of Work Order vide Memo No.- Reg/840 dated 24.12.2014 and your subsequent letter vide SIPL/P/Nov/WebDS/NSOU/014 dated 08.11.2016 regarding renting and maintenance of web server, you are hereby informed that, you are entrusted for maintenance and retainment of the webserver used for the following activities around the year.

- 1. Hosting of the university website.
- 2. Hosting the applications for online Admission and renewal for Bachelor degree, Post Graduate and second degree programmes (BLIS),

The price details is as follows and is effective from 01.01.2017 for one year.

Serial No.	Job Details	Rate per month (Rs.)	Total Cost (Rs.)
1	Renewal and Maintenance of the Webserver	38,750.00	4,65,000.00
Total (in words) :	Four lakh sixty five thousand ru	pees only.	Rs. 4,65,000.00

# **Terms & Conditions:**

Payment will only be made after successful completion of the job and certification by the competent authority.

Finance Officer



DD-26, Sector- I, Salt Lake City, Kolkata -700 064. Phone: (033) 4066-3220, FAX: 4066-3225

website: www.wbnsou.ac.in

Memo No - AC/311/16-17

Date- 15.02.2017

Τo,

Suryashakti Infotech Pvt. Ltd.,

P-245, Block-B, Lake Town

Kolkata-700089

Sir,

In continuation of Work Order vide Memo No.- Reg/340 dated 04.05.2016 and your subsequent letter vide SIPL/P/Nov/WebDS/NSOU/013 dated 08.11.2016 regarding annual maintenance of the university official website ,you are hereby informed that , you are entrusted for maintenance and updation of the university official website for one year with the revised rate as follows.

The new rate is effective from 01.01.2017 for next one year.

Serial No.	Job Details	Rate per month (Rs.)	Total Cost (Rs.)
1	Annual Maintenance and updation of the university official website www.wbnsou.ac.in	22,000.00	2,64,000.00
Total (in words):	Two lakhs sixty four thousand ru	pees only.	

# **Terms & Conditions:**

Payment will only be made after successful completion of the job and certification by the competent authority.

Finance Officer

Avimonyees oh ~





# NETAH SUBHAS OPEN UNIVERSITY ESTABLISHED BY W.B.ACT (XIX) OF 1997, Recognized by U.G.C.

DD-26,Sector- I, Salt Lake City, Kolkata -700 064.

Phone: (033) 4066-3220, FAX: 4066-3225

www.wbnsou.ac.in

Memo No. - Dy Reg (Adni) - 2015/86

Date-19-11-2015

To,

Dy General Manager ( Govt. Sales), West Bengal Electronics Industry Development Corporation, Webel Bhavan, Block-EP&GP, Sector-V, Bidhannagar, Salt Lake, Kolkata-700 091.

## Dear Sir,

In connection with techno-commercial proposal vide EC/BD/NSOU/CCTV/06 dated 09.09.2015 for extension of CCTV surveillance system at Headquarters of the university at DD-26,Sector-I,Salt Lake,Kolkata-700 091,you are requested to supply and install the following items ,provide technical support and to maintenance in order to extend the existing CCTV surveillance system.

SL.	DESCRIPTION	RATES	TAXES	TAX AMOUNT	TOTAL	QTY	TOTAL COST (RS)
NO			(%)	(RS)	AMOUNT(Rs.)		
*****	700TVL ICR D&N IR Bullet with 6 mm (1/3 Type) Exview HAD CCD 11 2.8 - 11 mm Vari-focal Lens, F1.2 IR LED : 50 m, 32 ea Camera.  Make -LG. Model - LCU5300R.	20500	14.5	2972.5	23472.5	6	140835.00
	Standard resolution IR night vision Color Dome Camera, 20 Mtr. Range. Make - LG. Model - LCV5300R	19500	14.5	2827.5	22327.5	2	44655.00
	16 Channel H.264 Hard-Ware Compressed Full DI high resolution real time display with VGA & BNC output Digital Video Recorder(DVR). Make - LG. Model - LRH7160D.	82000	14.5	11890	93890	1	93890.00
	12 V Power Supply Make :- Standard	450	14.5	65.25	515.25	8	4122.00



# METAJI SUBHAS OPEN UNIVERSITY ESTABLISHED BY W.B.ACT (XIX) OF 1997, Recognized by U.G.C.

DD-26,Sector- I, Salt Lake City, Kolkata -700 064. Phone: (033) 4066-3220, FAX: 4066-3225

# www.wbnsou.ac.in

5	2 TB Surveillance HDD Make - Seagate \ WD	9200	5	460	9660	1	9660.00
6	BNC Copper Connector, Make - MX,	50	14.5	7.25	57.25	16	916.00
7	RG6 Copper Co-axial Cable. Make - Standard.	17	5	0.85	17.85	1000	17850.00
8	2 Core Power Cable, Make - Standard,	15	5	0.75	15.75	1000	15750.00
9	Gray PVC Conduit	15	14.5	2.175	17.175	1000	17175.00
10	Cable Laying Labour Charge	24	14	3.36	27.36	1000	27360.00
	Instaliation Testing Commission	400	14	56	456	8	3648.00
	Grand Total: Rupees Thre	e Lakhs se	venty five t	housand eight hundred ar	d sixty one only		3,75,861.00

Payment will only be provided after successful installation and running of the system and completion of the training.

# Terms & Conditions:

Warranty: 1 (One) year from the date of installation.

Delivery Period: One month from the date of receipt of Purchase Order.

Training: Training to be provided to the concerned persons.

Kecewel Swapan Chambuty 30/11/15

१५५५०४ Deputý Registrar (Administration)



DD-26, Sector-I, Salt Lake City, Kolkata-700064

www.wbnsou.ac.in

Phone No: (033) 4066-3220

Memo No. - By Reg (Admi) - 2014/002(6)

Date- 6.08.2014 .

Ţ,

Webel Electronic Communication Systems Ltd., (A Govt. of West Bengal Undertaking) Regd. Office- DN-53, Sector-V, Salt Lake City, Kolkata-700 091.

Jear Sir,

implement CCTV surveillance system solution. -700064 at campus of Netaji Subhas Open University, you are requested to supply the following items and install and installation, technical support and maintenance of CCTV surveillance system for DD-26, Sector-I, Salt Lake City, Kolkata In connection with your techno-commercial proposal vide ECS/Mktg/CCTV/190 dated 19.06.2014 for supply,

2,697.00   21,297.00
2,958.00 23,358.00
(RS)
AMOUNT (RS)
VAT / Service TOTAL QTY (nos)





DD-26, Sector-I, Salt Lake City, Kolkata-700064

# www.wbnsou.ac.in

Phone No: (033) 4066-3220

2750/1					r installation	N.B. : Cable will be measured as per actual after installation	
4,65,260	Grand Total		(y)	red Sixty on	and Two hund	(Rupees Four Lakhs Sixty Five thousand Two hundred Sixty only)	
5,618.00	10	-561.80	61.80	12.36	500.00	installation, testing, commissioning.	๘
32,918.75	<u>ب</u>	32,918.75	4,168.75	14.50	28,750.00	1 KVA online UPS with 30 mins. Backup, Make-AVO.	13
25,281.00	900	28.09	3.09	12.36	25.00	Cable laying Charge. (unit in meter)	⇉
17,010.00	900	18.90	0.90	5.00	18.00	2 Core power Cable. Make - ISI Standard (unit in meter)	10
. 17,010.00	900	18.90	0.90	5,00	18.00	RG6 Copper Co-axial Cable, Make - ISI Standard. (unit in meter)	တ
15,120.00	900	16.80	0.80	5.00	16.00	PVC Conduit. (unit in meter)	œ
7,161.00	1	7,161.00.	341.00	5.00	6,820.00	18.5" LCD Monitor. Make - LG \ Samsung.	7
10,710.00		10,710,00	510.00	5.00	10,200.00	2 TB Surveillance HDD, Make - Seagate \ WD.	മ
98,241.00	_	98,241,00	12,441.00	14.50	85,800.00	16 Channel H.264 Hard-Ware Compressed Full Di high resolution real time display with VGA & BNC output (16 Analog and 8 IP Camera supported) Digital Video Recorder(DVR). Make - LG. Model - LRH7160D.	, თ
961.80	20	48.09	5.09	14.50	42.00	BNC Copper Connector, Make - MX.	4
5,770.80	10 	577.08	73.08	14,50	504.00	Power Supply. Make - Sparsh.	ယ

N.B. : Cable will be measured as per actual after installation.

3,75%1





DD-26, Sector-I, Salt Lake City, Kolkata-700064

www.wbnsou.ac.in

Phone No: (033) 4066-3220

Terms & Conditions

` Warranty

**Delivery Period** 

**Payment Terms** 

1 (ONE) YEAR FROM THE DATE OF DELIVERY OR INSTALLATION WHICH WILL BE EARLIER ON MANUFACTURING DEFECTS ONLY.

30 (Thirty) days from the date of receipt of confirm Purchase Order.

100% against delivery & installation.

Required training should be provided.

Training

Deputy Registrar(Administration)